نموذج إجابة (   )

المادة اقتصاد كلي 102                    د. عبد الرحيم الساعاتي                      الشعبة (              )

اسم الطالب :ـــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــ    رقم الطالب : ــــــــــــــــــــــــــــــــــــــــــــــــــــــــــ

السؤال الأول :

  1/   ( أ          )                            (ب             )                           (ج            )                           (د                )

  2/   ( أ          )                            (ب             )                           (ج            )                           (د                )

  3/   ( أ          )                            (ب             )                           (ج            )                           (د                )

  4/   ( أ          )                            (ب             )                           (ج            )                           (د                )

  5/   ( أ          )                            (ب             )                           (ج            )                           (د                )

  6/   ( أ          )                            (ب             )                           (ج            )                           (د                )

  7/   ( أ          )                            (ب             )                           (ج            )                           (د                )

  8/   ( أ          )                            (ب             )                           (ج            )                           (د                )

  9/   ( أ          )                            (ب             )                           (ج            )                           (د                )

10/   ( أ          )                            (ب             )                           (ج            )                           (د                )

11/   ( أ          )                            (ب             )                           (ج            )                           (د                )

12/   ( أ          )                            (ب             )                           (ج            )                           (د                )

13/   ( أ          )                            (ب             )                           (ج            )                           (د                )

14/   ( أ          )                            (ب             )                           (ج            )                           (د                )

15/   ( أ          )                            (ب             )                           (ج            )                           (د                )

السؤال الثاني 

